Sub. - Math
Class - 4th

Note - All Question s compulsory.

Q.1 - the population of 3 village is 78,834 if out of this 38,984 are males find
the female population.

Q.2- The area of city A is 12, 567 Sq km and that city B is 25,990 Sq km. find the
Combined are of both the cities,

Q.3 - Find the following difference and check your answer.
a) 45,068 - 32,126 b) 2,18,753 - 95,034

Q.4 - Multiply the following.

a) 4114 x 256 b) 5284 x 32
Q.5 - Divide and verify your answer .
a) 596 + 14 b) 909 + 23

Q.6 = Mr. the bought 150 pairs of socks for 3000 rupees. What will be the cost
of 250 pairs ?

Q7-121+11%x10+34-72

Q.8 — Write the numbers name.
a) 76,542 b) 30, 40, 543

Q.9 - Find reminder Quwtient then 343 + 2

Q.10 - Match the following.

20 XXXVil
26 XX
37 Xil

12 XXVi
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